

$$a_1 + a_2 + a_3 + \dots + a_n = 44$$

$$\frac{a_1}{q} + a_2 + a_3 + \dots + a_n = 44 \quad (a_1)^r = 44 \quad a_1 = 4$$

$$\frac{4}{q} + 4 + 4q = 44$$

$$\frac{4}{q} + 4q = 40$$

$$q < \frac{4}{4} \rightarrow \text{غیرممکن} \rightarrow q = \frac{1}{4}$$

1

$$x^r + 1, 2x, x^r - 2$$

$$\Rightarrow S_V = \sum_{q=1}^n \left(\frac{q^r - 1}{q - 1} \right) = 1 \times \frac{1^r - 1}{1 - 1} = 1 \times \frac{1^r - 1}{0} = \frac{1^r - 1}{0}$$

$$(x^r + 1)(x^r - 2) = (2x)^r$$

$$x^r - 2x^r + 1x^r - 2 = 2x^r$$

$$x^r + 2x^r - 2x^r - 2 = 0$$

$$x^r - 2x^r - 2 = 0 \quad x^r = 4$$

$$y^r - 2y - 2 = 0 \quad (y - 2)(y + 1) \rightarrow x^r = 4 \quad \begin{matrix} n=2 \rightarrow 1 \times 2 = 2 \\ n=-2 \rightarrow 1 \times (-2) = -2 \end{matrix}$$

$$a + aq + aq^2 + aq^3 + aq^4 = ?$$

$$a_1 \left(\frac{1 + q + q^2 + q^3 + q^4}{1 - q} \right) = 44 \times \frac{121}{11} = 484$$

2

2

$$d = \frac{44 - 1}{4} = 10.75 \quad 1, 11/4, 22, \boxed{32/4}, 44, 55/4, 66$$

$$q^r = \frac{44}{1} \quad r^4 = 44 \quad q = 2 \quad 1, 2, 4, \boxed{8}, 16, 32, 64$$

$$q = -2 \quad 1, -2, 4, \boxed{8}, 16, -32, 64$$

$$A + B = 32/4 + 16 = 60/4$$

$$32/4 - 16 = 16/4$$

$$\frac{-94}{4}, \frac{-94}{4}, \dots$$

$$a_n = \frac{-94}{4} + (n-1) \frac{1}{4} = -23 + \frac{(n-1)}{4} = 1$$

$$11 \times q^v = 1$$

$$q^v = \frac{1}{11} \quad q = \frac{1}{11}$$

$a+rd \quad a+rd \quad a+rd$ $(a+rd)(a+rd) = (a+rd)^r$ $a^r + rad + rad + rd^2 = a^r + r^2 ad + r^2 d^2$ $rad = r^2 ad$ $rd = r^2 a$ $d = r^2 a$	$d = 0, 1, \infty$ $d = 0, 1, \infty$	6
$a+rd \quad a+rd \quad a+rd$ $(a+rd)(a+rd) = (a+rd)^r$ $a^r + rad + rad + rd^2 = a^r + r^2 ad + r^2 d^2$ $rad = r^2 ad$ $a = d$	$rd = \frac{1}{r} \quad d = \frac{1}{r}$ $\frac{1}{r}, \frac{1}{r}, \dots$ $\frac{1}{r} r^{n-1} = \frac{1}{r} r^q = r^q = r^r$	7
$raq = t_1 \quad raq = t_1 \quad r(raq) = (raq)(aq^r)$ $raq^r = t_1 + d \quad raq^r = t_1 + d$ $aq^r = t_1 + rd$ $q^r - 1 + r = 0$ $(q-1)(q-r) = 0$ $q \neq 1 \Rightarrow q = r$	$raq^r = (raq)(aq^r)$ $raq^r = xq(r+q^r)$ $rq = r+q^r$ $q^r - 1 + r = 0$ $(q-1)(q-r) = 0$ $q \neq 1 \Rightarrow q = r$	8
$r, \frac{r}{r}, \dots$ $\frac{1}{r}, \frac{1}{r}, \dots$ $a_n = a_1 + (n-1)d = r + (n-1)(-\frac{1}{r})$ $a_r = r + (r)(-\frac{1}{r}) = 0$ $a_1 = r + (1)(-\frac{1}{r}) = \frac{r-1}{r}$ $a_{1r} = r + (1r)(-\frac{1}{r}) = 0$	$a_n = a_1 + (n-1)d = r + (n-1)(-\frac{1}{r})$ $a_r = r + (r)(-\frac{1}{r}) = 0$ $a_1 = r + (1)(-\frac{1}{r}) = \frac{r-1}{r}$ $a_{1r} = r + (1r)(-\frac{1}{r}) = 0$	9
$a + aq^r + aq^s = vr$ $b = a \quad b+d = aq^r \quad b+4d = aq^s$ $\Rightarrow a+d = aq^r \Rightarrow d = a(q^r-1)$ $a+4aq^r-4a = aq^s \quad 4aq^r - 3a = aq^s$ $q^s - 4q^r + 3 = 0 \Rightarrow (q^r-1)(q^s-3) = 0$ $1 \rightarrow q^r = 1 \quad 3 \rightarrow q^s = 3$	$a + aq^r + aq^s = vr$ $b = a \quad b+d = aq^r \quad b+4d = aq^s$ $\Rightarrow a+d = aq^r \Rightarrow d = a(q^r-1)$ $a+4aq^r-4a = aq^s \quad 4aq^r - 3a = aq^s$ $q^s - 4q^r + 3 = 0 \Rightarrow (q^r-1)(q^s-3) = 0$ $1 \rightarrow q^r = 1 \quad 3 \rightarrow q^s = 3$	10

$$d = aq^r - a = a(q^r - 1) \rightarrow d = va \rightarrow d = v$$

$$a + aq^r + aq^s = vr \rightarrow a + 1a + 4a = vr \Rightarrow vr = 6a \Rightarrow a = 1$$

$$r=1 \rightarrow d = a = 1$$